N = 0l & At & Ml A
018 S £ 13 YB3 AMS ~ KA
SN YAS
HE: QAg FOKK UEAD 75
Sl QAS WIAHA 25 CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
ANE 679,466 510,504 168,872
ANE HORA UEHD 25 604,918 435,546 169,372
YMS BHNUIA B3 604,918 435,546 169,372
HEANL A B2l 148,966 152,666 A3,700
201 et | 148,066 151,166 A3,100
01 AtR 22l H] 20,700 23,800 £3,100
OIS L M2 TS2 390,0008 +4= T 1,560 2,200 A640
OASII 2% 428 7Y 9,440 10,800 A1,360
ONREE 7 2,100 2,700 A600
OH4A8E 3¢ 5,500 6,000 A500
301 LB A 0 600 A600
ENERE] 0 600 A600
OPHEYE S 2F sA =& 0 600 A600
Foimol MEa Hu 107,232 54,160 53,072
101 @124 bl 48,732 25,660 23,072
YPIENEESETP 48,732 25,660 23,072
ONFB2R AR 22,032 2,960 9,072
OYAAS AIJIX ZBLEH ol 2,000 3,000 9,000
OBt EHEHI A 9,500 4,500 5,000
206 2 bl 32,000 7,000 15,000
01 2 bl 32,000 7,000 15,000
AMS AJIK BLEH WS 30,000 15,000 15,000
401 N EHIL 2T 15,000 0 15,000
01 Al bl 15,000 0 15,000
OFM t4 % ster, A 24 15,000 0 15,000
THoH 012 FOI%8 of 270,000 170,000 100,000
401 NEHIL 2 THYI 265,000 165,000 100,000
01 Al&l bl 262,518 163,596 98,922
ONSOIE ti+2 FYl 9,802 0 9,892
SI0HS oY F| 12,860 0 12,860
OLFNE SEZEEY 9,802 0 9,892
OMlItlE 52 2 542 Il 9,892 0 9,802
OB30I2 42 Yl 9,802 0 9,892
OUFOIZ tH+2 =Yl 6.925 0 6,925
OLHOIS BH+2 FYl 8,903 0 8,903
ouIOE ME Zl 1,871 0 11,871
ozmgel 52 Il 8,903 0 8,903
ORFOIZ Hi+2 Yl 9,802 0 9,892
03 Al& 2 0hHI 2,482 1,404 1,078
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2N
X ZH -
L= B

el

X HWEHZA #*=
=l e

02 02 02
> x>
o mo mo

02 o
o2

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
O XH off Gil & AH S 1,078 0 1,078
A2 E THOH Ol e 50,000 30,000 20,000
401 AIEHI L 20 50,000 30,000 20,000
01 A& HI 49,676 29,676 20,000
OL72 THOH Ol Z AL 49,676 29,676 20,000
HY2IZH (PAS) 74,548 75,048 A 500
Jl=&l 74,548 75,048 A 500
AaZ Jl=2& | 74,548 75,048 A 500
201 Let24E] 24,468 24,968 A 500
01 At 22l 20,468 20,968 A 500
OgHge=za 13,497 13,997 A 500
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N & 0l & Av S Z M A
20158 =3 1 3] LESH AE ~ AAMH
2N B
M H28H F0HAUX WEHIT ==
el 339 dFAMHA H3 (Sl & &)
SA-EY.B(BH) - PN - BES 0] &b 2 p/E-T HI RS2
e=Rgel 322,893 242,893 80,000
FEY WX WERIT =5 272,069 192,069 80,000
HESH HZFMHA 23t 272,069 192,069 80,000
THoH ol =ol==& oiZ 159,000 99,000 60,000
401 AIEHI L 20 155,000 95,000 60,000
01 A& HI 163,488 94,136 59,352
ONS Eti+=2 &bl 20,000,000 *98.92% 19,784 0 19,784
O=Z =2 ZFHl 15,000,000 *98.92% 14,838 0 14,838
OogdxE s2ZxH 15,000,000 *98.92% 14,838 0 14,838
OFMZ th+== FHl 10,000, 000 *98.92% 9,892 0 9,892
03 Al S HHI 1,512 864 648
O XH ol ol & A& 60,000,000 *1.08% 648 0 648
28 THoH ol 2 50,000 30,000 20,000
401 AIEHI L 201 50,000 30,000 20,000
01 A& HI 49,676 29,676 20,000
OAx72 THoH Ol &AL 49,676 29,676 20,000
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N = 0l & At & Ml A

20158 =& 1 3 LA LA ~ AAMH

SN 2o
M 2240 HOXX UEND 75
CHelr 2orel #EAHIA A3 (St &)
SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2
Sost 388,729 306, 002 82,727
220 HOHUX UEHD PE 333, 104 249,074 84,030
S0 #HAUIA A 333, 104 249,074 84,030
HBHMH A 22 83,054 83,374 A 320
201 2Bt Ay 82,554 82,774 A 220
01 At 2H2lH| 9,700 10,320 £620
OFI 282 2 ML AsE
375,000% *42 | 1,500 1,600 A 100
OANRIII| 29 228 Y 5,220 5,720 A 500
ONPEE 2 2,980 3,000 A20
02 222 72,854 72,454 400
OFA 4% REISH 400,000% *13] 400 0 400
301 LB A 500 600 A 100
09 BAAIHI 2 &3 500 600 A100
OZHHYS S 2T HA FX 500 600 A 100
FoiEo MEEY HA 71,500 6,500 65,000
101 Q121 b 39,900 4,900 35,000
04 JIAH22RSE S 39,900 4,900 35,000
OS4+TATLANY A2 35,000 0 35,000
206 TH 2t 31,000 1,000 30,000
01 MZ I 31,000 1,000 30,000
OS+TATLANY M| 30,000 0 30,000
Wohole Felss o2 98,650 99,000 A 350
201 et Y| 3,650 4,000 A 350
01 At 22l 3,650 4,000 A 350
OMah oy o =2 Zul AR 3,650 4,000 A 350
ATD THH O 50,000 30,000 20,000
401 Al HI L 2 THHI 50,000 30,000 20,000
01 A&l 49,676 29,676 20,000
OLFS THol 0l 2 At 49,676 29,676 20,000
nessg 29 29,900 30,200 A 300
201 et 2 | 23,900 24,200 A 300
01 At 2H 2l 4,700 5,000 A 300
ossggNse 4700002 * 102 4,700 5,000 A300
BZSAHY (2LH) 55,625 56,928 ~1,303
o= Al 55,625 56,928 A 1,303
2eotet J|= | 55,625 56,928 A 1,308
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SN 2o
IH: HZ2YAH (2AH)

Sl Il = Al (29l & 2)

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2

201 fEt2E | 15,608 16,608 A 1,000

01 AFR 22l 12,608 13,608 A 1,000

O3 g2 9,986 10,886 A900

O¢E ARFX(SHI) 2,622 2,722 A 100

202 04l 28,860 29,160 A 300

01 S L YI 3,060 3,360 A 300

osd g2 3,060 3,360 A 300

405 Xt&tE S HI 997 1,000 A3

01 ML ESFHSH 997 1,000 A3

SEER-LES 997 1,000 A3
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N & o & AF & H Al A
HE = 13 Leg N Ldas ~ XA
AEH
AEE HAHXX WEKZ 75
AEH HYMUIA 25 o &)
SA-ZH () - HRAY - BES Ofl & oH I & Z
AEH 331,493 252,593 78,900
AEH HOHXNX WERKIA += 281,213 202,913 78,300
AEH HEAH A 23 281,213 202,913 78,300
HHMEIA 222 55,433 56,233 A 800
201 Let24dy] 54,718 54,918 A 200
01 At 2teltl 5,182 5,382 2200
OMBIIDl 28 428 #¢ 3,822 4,022 A 200
301 LEtE A= 0 600 A 600
09 HAAHIEA S 0 600 A 600
O=FLHs S A8 &AL =T 0 600 2600
THoH Ol & ==0l=3& off & 159,000 99,000 60,000
401 Al& B2 28I 155,000 95,000 60,000
01 A& HI 153,488 94,136 59,352
OJtg Xl =+ =2 &l 20,000,000& %98.92% 19,784 0 19,784
OZstal &t =HFH 15,000,000 & *98.92% 14,838 0 14,838
OS2XF =2 FHI 25,000,000& %98.92% 24,730 0 24,730
03 Al 20 HI 1,512 864 648
O TH o Gil &AM 60,000,000& =1.08% 648 0 648
deerE2 2el2g 900 1,800 A 900
201 L2l 900 1,800 A 900
01 At 22l 0 900 A 900
OMasrza 2te| 0 900 A 900
22 THOH Ol & 50,000 30,000 20,000
401 Al HI 2 28I 50,000 30,000 20,000
01 A& HI 49,676 29,676 20,000
O27 2 THOH O &AL 49,676 29,676 20,000
HE2IZH(MEH) 50,280 49,680 600
JlE3l 50,280 49,680 600
AEH JI23YI 50,280 49,680 600
201 L2l 14,264 13,664 600
01 At 2t 2l 12,264 11,664 600
oga=¢ 50,000& »22 1,100 0 1,100
OHE g2xd 8,448 8,748 A 300
OHE gRFX(SHI) 2,716 2,916 £200
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SN g
M dHH H0HAX WEHKHIT ==
SRl H4B BIMHIA 25 EERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-E" Hl DS 2
01 ArR2teltl 440 440 0
OZaz SL2A 2 FHEH=E
440,000& * 13l 440 440 0
206 M= Hl 6,500 6,500 0
01 M= 4l 6,500 6,500 0
OXZxd Mg ¢ 3,500 3,500 0
OAZEA 22248 Mz ¢ 3,000 3,000 0
301 et d = 600 600 0
NJEEd=s 600 600
OoldE Mot 2elel 243
50,000 «1H » 123 600 600 0
HoHoe =gl=& oiZ 159,000 99,000 60,000
401 Al HI K 201 I 155,000 95,000 60,000
01 A& HI 153,488 94,136 59,352
oY s2x¥ 20,000,000 *98.92% 19,784 0 19,784
O=EHIZLAL 10,000, 000& %98.92% 9,892 0 9,892
Oz =23l 15,000,000 *98.92% 14,838 0 14,838
Ol 2l & &bl 15,000, 000& %98.92% 14,838 0 14,838
03 Al 2 THHI 1,512 864 648
O TH o Gl &AM 60,000,000 *1.08% 648 0 648
22 THoH ol 2 50,000 30,000 20,000
401 Al HIZ 201 I 50,000 30,000 20,000
01 A& HI 49,676 29,676 20,000
OAx7SE THOH M &AL 49,676 29,676 20,000
03 Al =2 THHI 324 324 0
OAE THoH Ol &AL 30,000,000& =1.08% 324 324 0
HY2IZH (84+H) 49,824 50,824 A 1,000
Jl23&dl 49,824 50,824 A 1,000
A0 Jl=2Z4l 49,824 50,824 A 1,000
201 L Et2A | 14,164 14,664 A 500
01 At 2teltl 11,164 11,664 A 500
OHE gR=& 8,832 9,332 A 500
O8A ARFA(SHIl) 2,332 2,332 0
02 2324l 3,000 3,000 0
O&EAMSKA & 2l 3,000 3,000 0
202 Odl 24,580 25,080 A 500
01 = LH 4 Hi 2,380 2,880 A 500
Oogd gR=d 2,380 2,880 A 500
02 N 22,200 22,200 0
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N & 0l & At

o o Al

A

= o
P0IBHE S 13 sl YAS ~ XAS
SH: 240
HE: 240 XN YEND 2=
SRl @48 BIMHIA 25t CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
240 459,033 344,416 114,617
240 XX WEAD 75 390,280 274,280 116,000
40 HIHNUIA B3 390,280 274,280 116,000
HHNU A B2 124,016 106,516 17,500
201 et HH| 124,016 106,016 8,000
02 2B 2| 106,796 83,796 18,000
OJ2S ®IK2 6,500,0002 * 122 78,000 60,000 18,000
301 LB A2 0 500 A500
09 S AMAIHI 2 & 3 0 500 A500
OZIEYE S 25 BA =& 0 500 A500
Zoime MEEZ N 11,264 12,764 A 1,500
201 YEr2 | 2,200 3,700 A1,500
01 At 22l 600 2,100 A 1,500
OSHZLX Tx YX W27 0 1,500 A1,500
THOH Ol 2 =018l of 2 205,000 125,000 80,000
401 AIEHI L 2T b 200,000 120,000 80,000
01 Al Hl 198,056 118,920 79,136
OYHOIS 242 FHIBM
20,000,000 8. 92% 19,784 0 19,784
OS5 IZ0IS 52 243TA
25,000,0002! 8. 92% 24,730 0 24,730
024 <4302 52 ¥
20,000,000 *98.92% 19,784 0 19,784
024 FHOS MAFIZX Fbl
15,000, 0002 +08. 92% 14,838 0 14,838
03 Al = Ch bl 1,944 1,080 864
O TH ol Ofl 2 At & 80,000, 000! +1.08% 864 0 864
LTS THEH ol 50,000 30,000 20,000
401 NEHIL 2 THYI 50,000 30,000 20,000
01 Al 49,676 29,676 20,000
OATS THEH O & AbSS 49,676 29,676 20,000
HHSHPY (24 ) 68,753 70,136 A1,383
o= 68,753 70,136 A1,383
248 Jl=2H| 68,753 70,136 A1,383
201 Lyt HH| 20,179 21,552 A1,373
01 At 22l bl 6,179 17,552 ~1,373
08y YLz 10,291 11,664 A1,373
405 TH&HF St 990 1,000 A10
01 AU 2EH St 990 1,000 A10
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N = 0l & At & Ml A
0158 £ 135 YA AAS ~ XA
SN A
HE: Ao HONX WEND 25
Sl NEE BHAHA 235 (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
AEH 306,014 228,954 77,060
SEHE HOANX UWERIT 2= 256,730 178,130 78,600
AEH A A 23 256,730 178,130 78,600
HYMHI A 222 46,730 48,130 21,400
201 LEt2A | 46,380 47,180 A 800
01 AtR 22l | 7,300 8,100 A800
OFJIE & M2 2=Z 362,500 42 | 1,450 1,600 A 150
OAMRI1Il 28 2258 7 3,600 4,000 A 400
OANEEE 74| 2,250 2,500 A 250
301 €EtE A= 0 600 A 600
09 AL HIE A= 0 600 A 600
OzH8Ys S 243 BA =8 0 600 A600
THoH ol 2 ==0l==& o 2 159,000 99,000 60,000
401 AIEHI L 2CHYI 155,000 95,000 60,000
01 A& HI 153,489 94,136 59,353
O&ZE0t2 AIS& &EHl 20,000,000 «98.92% 19,784 0 19,784
Oa4d0te s &% 22,000,000%98.92% 21,763 0 21,763
OuoIors aoId &l 10,000, 000%98.92% 9,892 0 9,892
OAIOtE s28 2= 8,000,000& *98.92% 7,914 0 7,914
03 Al 2 THHI 1,511 864 647
O THofl off 2 At 647 0 647
A2 THOH Ol & 50,000 30,000 20,000
401 AIEHI L 2 CHYI 50,000 30,000 20,000
01 A& dI 49,676 29,676 20,000
OAE THol ol & AH 49,676 29,676 20,000
HE2HZH (MEH) 49,284 50,824 A 1,540
Jl=2dtl 49,284 50,824 A 1,540
AEH J2Zdl 49,284 50,824 A 1,540
201 LEt2E | 13,664 14,664 A 1,000
01 ArR2t2lHl 10,664 11,664 A 1,000
ogd g2=xd 8,334 9,334 A 1,000
202 o4 Hl 24,780 25,080 A 300
01 S LHOYI 2,580 2,880 A 300
ogd gR=d 215,000& »12& 2,580 2,880 A 300
405 TtobFH SH| 760 1,000 A 240
01 AL ESFH SH 760 1,000 A 240
oy gR=d 760 1,000 A 240
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N = 0l & At & Ml A

20158 =& 1 3 LA LA ~ AAMH

AN AAHH

3 A X HWEHZA #*=

r
OOII [l
0 2

SOl A BEAHIA 23 (St &)
SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2

A e 325,766 247,956 77,810

AN EHORX UEHD PE 272,480 194,080 78,400

ANS BHAYIA 2 272,480 194,080 78,400

BHANUA BEl2Y 54,950 55,950 A1,000

201 2Bt Ay 54,950 55,350 £400

01 At 2H2lH| 6,800 7,200 £400

OFIIZES L A2 TS2 300,009 <420 1,200 1,600 £ 400

301 et &2 0 600 600

09 BAAIHI 2 &2 0 600 A 600

OZHEYSS ATHA 5T 0 600 £600

Wohole Folss o 161,000 101,600 59,400

201 2et2 | 6,000 6,600 A 600

01 At 22l 6,000 6,600 £600

OMB O FOI&® ZHl X 6,000 6,600 A 600

401 Al HI YL =2 Tl 155,000 95,000 60,000

01 Al 153,488 94,136 59,352

OHMaliE 52 25 9,892 0 9,892

Oeizs M0lS =2 ZF  15,000,0002 *98.92% 14,838 0 14,838

oHlElE 52 2F 10,000, 0002 %98 92% 9,892 0 9,892

O=0t2 2 J| 15,000,0002 %98 92% 14,838 0 14,838

OMQIIE 2 EH 10,000,0002 %98 92% 9,892 0 9,892

03 Al 2 THHI 1,512 864 648

O T ol 01l 2 At & 60,000,000 *1.08% 648 0 648

LTS THOH Ol 50,000 30,000 20,000

401 Al HI L 2 THHI 50,000 30,000 20,000

01 Al&H 49,676 29,676 20,000

O2R2 THAHOIY A 49,676 29,676 20,000

BHSYAH (A ) 53,286 53,876 A590

2 Al 53,286 53,876 A590

AN JI=H| 53,286 53,876 A590

201 et2 | 15,056 15,636 A 580

01 AtR 22l 12,056 12,636 £ 580

osy gz 9,529 10,109 A 580

405 XtorF S| 990 1,000 A10

01 KAt S Z 3 S| 990 1,000 A10

Oty gz 990 1,000 A10
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N & 0l & Av S Z M A
20158 =3 1 3] LESH AE ~ AAMH
SN BES
M HECH HFOHAX UWERD 2=
Helr 2EH HIANH A 23 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2
2EH 481,288 372,388 108,900
2EH FOHANX UWERIT 2= 420,108 309,408 110,700
24EH HHAMHIA Hot 420,108 309,408 110,700
HHMEIA 222 102,628 100,508 2,120
201 LEt2A | 102,628 99,708 2,920
01 AtR 22l | 17,952 19,532 A 1,580
OFJIAnd=E E M2 F=sE 1,980 2,000 A20
OMEI1Jl 298 A2F 7 900,000 =12 10,800 12,000 A1,200
OMEES ¥ 2,160 2,400 A 240
OFA & FAM2e 85 7E 1,080 1,200 A 120
02 2324l 84,676 80,176 4,500
O BAXE Y Foisd ¥ 4,500 0 4,500
301 g4 = 0 800 A 800
09 AL HI BN = 0 800 A 800
OZEHLYs s A3 A =& 0 800 A 800
THoH ol ==0l=3 o 2 205,000 125,000 80,000
401 Al HIZ 2018 200,000 120,000 80,000
01 A& HI 198,056 118,920 79,136
O1neNtse s Fdl 14,838 0 14,838
=02 s2 &% 0 0 0
ousits s2 2% 10,000,000 *98.92% 9,892 0 9,892
oggite sz M4 15,000,000 *98.92% 14,838 0 14,838
OsXits sti=2 EHl
20,000,000 *98.92% 19,784 0 19,784
O4 A0l =2 &l 10,000,000 *98.92% 9,892 0 9,892
OF&02 sti==2 &l
10,000,000 *98.92% 9,892 0 9,892
03 Al S THHI 1,944 1,080 864
O XH ol ol & A 80,000,000 *1.08% 864 0 864
239y 2el2dg 35,700 31,000 4,700
201 LEt2A | 20,700 16,000 4,700
01 At 2t2l bl 7,700 3,000 4,700
OAEEZsE 2tel 7,700 3,000 4,700
FUXNXLE 2 7,480 3,600 3,880
201 €24 7,480 3,600 3,880
01 AF2 22l 5,080 1,200 3,880
OFQUXXIHE 2tel 3,080 1,200 1,880
OFUXXEE =S4 2,000 0 2,000
A2 THOH Ol 50,000 30,000 20,000
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2N
X ZH -
L= B

el

o
TPy i
e e

02 o

0 2

X HWEHZA #*=
=l e

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
401 Al I 28I 50,000 30,000 20,000
01 A& HI 49,676 29,676 20,000
O27 2 THOH M &AL 49,676 29,676 20,000
HE2IZH (ZHEH) 61,180 62,980 A 1,800
Jl23l 61,180 62,980 A 1,800
Z4EH J|I23HI 61,180 62,980 A 1,800
201 L2l 18,780 20,580 A 1,800
01 At 2t 2l 14,780 16,580 A 1,800
OgHd g2=a 10,564 11,664 A 1,100
Oga =g 1,300 2,000 A 700
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N & 0l & Av S Z M A
0159 £ 18 YEH YAS ~ KA
SN 2T
B MO BOKXK UEAT 75
SRl ATS WIMHA 23 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
27 353,224 249,534 103,690
YA HOKX YWEHD 25 299,268 195,658 103,610
2R HHAUIA 2 299,268 195,658 103,610
HHMEIA 222 57,186 58,576 A1,390
201 YBt2 | 56,976 57,976 A1,000
01 ALR22lH] 7,650 8,650 A 1,000
OARIII 29 222 7YYl 5,000 6,000 A1,000
301 LB A2 210 600 £390
09 BAAHI B A S 210 600 390
ORZEYs S 2ZHN =3 210 600 £390
FOIY MEHE N 13,082 8,082 5,000
401 AIEHI L 2T bl 5,000 0 5,000
01 Al bl 5,000 0 5,000
CEITES" 5,000, 00024 *17H & 5,000 0 5,000
THoh ol oI of 179,000 99,000 80,000
401 NEHIL 2 THYI 175,000 95,000 80,000
01 Al& bl 173,273 94,136 79,137
Oowedl S2EF 15,000, 0002 *98. 92% 14,838 0 14,838
sge 2R 10,000, 0002 %98 92% 9,892 0 9,892
OIS OIS Y AGHEFHIBA
20,000,000 %98 92% 19,784 0 19,784
Owslal WS EHHIS A 0 0 0
Ostadal DHFHI YIS A
7,000, 0002 8 .92% 6,925 0 6,925
Ot el MUIZ A 8,000,0008 *98.92% 7,914 0 7,914
O+ MHAHSISEHUIZ M
20,000, 0002 %98 92% 9,784 0 19,784
03 A& 2 THYI 1,727 864 863
O TH oH 0 2 At & 863 0 863
LTS THEH ol 50,000 30,000 20,000
401 AIEHIL 2 THHI 50,000 30,000 20,000
01 Al&t bl 49,676 29,676 20,000
OATRD THHO LA 49,676 29,676 20,000
BH2 LAY (TEY) 53,956 53,876 80
o= 53,956 53,876 80
2E 2R 53,956 53,876 80
201 YBt2 | 15,836 15,636 200
01 AlR22lH] 12,836 2,636 200
oSy gexa 9,336 10,136 800
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2M: 2XH
M HE2YFH(ZTH)
o2l I3l (chel & 9l)
SAH M -H2A () - MEAY - BES Ol A o4 Iy Hws2
Oog&a+g 50,0003 1«20 1,000 0 1,000
202 O B 27,000 27,120 A 120
01 =2 LHO bl 3,000 3,120 A 120
OHE gd2FA 3,000 3,120 A 120
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N = 0l & At & Ml A

20158 =& 1 3 LA LA ~ AAMH

fon
ton

fAM: EXH
M dxH HFHAX WEHIT ==
S

ool gxd IMHIA 23St (Sl & &)

SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2
S X 323,467 245,567 77,900
X% FHAX WERIT =5 273,643 194,743 78,900
SXY dEAMHA 23t 273,643 194,743 78,900
HYMHI A 222 58,663 59,763 21,100
201 LEt2A | 58,663 59,163 A 500
01 AtR 22l | 7,700 8,200 A 500
OARIIDIl 28 228 72¢ 6,500 7,000 A 500
301 gEtE A= 0 600 A 600
09 B{AtAIHI 2 & 2 0 600 600
OZZLHIsS AN =& 0 600 2600
THoH ol =0l=& o Z 159,000 99,000 60,000
401 AIEHI L 2CHYI 155,000 95,000 60,000
01 Al£ dl 153,488 94,136 59,352
O-g0r2 =2 &Hl 20,000,000 *98.92% 19,784 0 19,784
O2E0t2 =2 &Hl 20,000,000 «98.92% 19,784 0 19,784

O=22 a1clE Mol &l

20,000,000 *98.92% 19,784 0 19,784
03 Al S THHI 1,512 864 648
O XH ol ol & AL 60,000, 000& *1.08% 648 0 648
A2 THOH Ol & 50,000 30,000 20,000
401 AIEBIZ S CHYI 50,000 30,000 20,000
01 A€ HI 49,676 29,676 20,000
OAE THol ol &2 AL 49,676 29,676 20,000
HAE2HAZH(HXH) 49,824 50,824 A 1,000
Jl23&dl 49,824 50,824 A 1,000
X J=23 49,824 50,824 1,000
201 LEt2A | 14,364 14,664 A 300
01 AtR 22l | 11,364 11,664 A 300
ogd g2=xd 9,032 9,332 A 300
202 Oddl 24,380 25,080 A700
01 SLHOYI 2,180 2,880 AT700
Oogd gR=d 2,180 2,880 AT700
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N & 0l & Av S Z M A
20158 =3 1 3] LESH AE ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
Xl AHEH 350,079 250,499 99,580
ANAH XX WERAT 5 300,255 199,675 100,580
KA B AMHIA 23t 300,255 199,675 100,580
HHMEIA 222 70,375 64,975 5,400
201 LEt2A | 63,375 64,375 A 1,000
01 AtR 22l | 11,175 12,175 A 1,000
OMEIIDl 28 4235 7¢ 5,000 6,000 A 1,000
301 et d = 0 600 A 600
09 AL HI BN = 0 600 A 600
OZZLZ3 & 25 dM =& 0 600 2600
401 A& HIZ 201 8] 7,000 0 7,000
01 A& HI 7,000 0 7,000
O=zloa HE g &1 7,000 0 7,000
FOIEO MESH M 20,880 5,700 156,180
101 Q124 4] 8,680 3,500 5,180
04 D12t 22 HEaE = 8,680 3,500 5,180
OL=2Y o HM=&g UREY
37,000 700 2 x5H 43| 5,180 0 5,180
401 AIEHI L 201 10,000 0 10,000
01 A& HI 10,000 0 10,000
okz¢ 22 =4 10,000 0 10,000
ool =el=3 ofa 169,000 99,000 60,000
401 Al HI K 201 I 165,000 95,000 60,000
01 A& HI 163,488 94,136 59,352
OXIA S40tE s2EH|
15,000,000 *98.92% 14,838 0 14,838
OXIAH 28 == &Hl 20,000,000& «98.92% 19,784 0 19,784
OXIAL &1EOIE et& Hi=2 HHl
15,000,000 *98.92% 14,838 0 14,838
OXIAH SAK0IE s2 &l
10,000,000 *98.92% 9,892 0 9,892
03 Al S THHI 1,512 864 648
O XH ol ol & AL 60,000, 000& *1.08% 648 0 648
A2 E THoH ol e 50,000 30,000 20,000
401 AIEHIZL 20 50,000 30,000 20,000
01 A& HI 49,676 29,676 20,000
OAE THol ol &AL 49,676 29,676 20,000
HY2FZHI (KAL) 49,824 50,824 A 1,000
| =&l 49,824 50,824 A 1,000
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EAM: XAH

M HE2AAY (XIAIH)

o2l I3l (chel & 9l)
SAH M -H2A () - MEAY - BES Ol A o4 Iy Hws2
XA D123l 49,824 50,824 A 1,000

201 LEt2 9| 13,664 14,664 A 1,000
01 At 22| bl 10,664 11,664 A 1,000
OHE g2xd 8,414 9,414 21,000
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